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Coding Decoding Questions Overview

Coding Decoding Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam
is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Coding Decoding Questions.

Coding Decoding Questions

Direction: Read the information carefully and answer the following questions. In English alphabetical series, the
consonants are replaced by their actual positions (in number) and the vowels are replaced by letters immediately
succeeding them.

Question

What does '6 18 F 19 8' mean in that code language?

Difficulty : Difficult Average Time: 38 Seconds

Options :
1. FRESH

2. FLESH
3. TRASH
4. FRUIT

5. FLAME

Solution

The correct answer is option 1 i.e. FRESH

Understanding
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Given code: 6 18 F 19 8

The logic used: The consonants are replaced
by their actual positions, and the vowels are
replaced by letters immediately succeeding
them.

We have to write an immediate succeeding
letter at the place of vowels and an actual
position in number at the place of consonants.

In this way,
6 is code for F
18 is code for R

F is code for E (the immediate succeeding
letter of E is F, that is used in code)

19 is code for S
8 is code for H

Thus, 6 18 F 19 8 means FRESH
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